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ﬁ:ﬁi TREDBBOEIENOKRES TREDHBEEILNOKRES TREDBBORILNOKRES TREFDHFERIENOKRES
i I IS Rt 7 Il B sl Il 7l I I it - Ml A i Il 7o
1 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00| 000 ~ 477 59.43 | #hst 000 ~ 477 1.75 9.39 ZThsh 1.00|6.00 ~ 5.00 59.43 | ThS | 6,00 ~ 600|175 9.59
2 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
st 1.00 1000 ~ 698 88.48 | #nLis | 000 ~ 698 1.79 9.61 Thst 1.00 | 5.00 ~ 869 8848 | Ehs | 6.00 ~ 869|179 9.61
3 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
st 1.00 1000 ~ 643 80.89 | #nLlst | 000 ~ 6.43| 1.83 9.82 Thst 1.00\|6.00 ~ 771 80.89 | #hs | 6,00 ~ 7.71|1.83 9.82
4 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D - ~ — — —
ZFhLs 1.00| 000 ~ 754 96.47 | #hst 000 ~ 754 1.79 9.60 Zhsh 1.00 | 5600 ~ 9.94 96.47 | #hst | 5.00 ~ 994 | 1.79 9.60
5 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00 | 000 ~ 678 85.66 | #nust | 000 ~ 678]1.85 9.90 Zh st 100|600 ~ 843 85.66 | TS | 6,00 ~ 843 1.85 9.90
6 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
st 1.00 1000 ~ 555 69.35 | LS | 000 ~ 555|219 11.70 Thst 1.00 | 5600 ~ 865 69.35 | Thst | 65.00 ~ 8651219 11.70
p 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
ZFhLs 1.00| 000 ~ 697 8839 | #hiist | 000 ~ 697|251 13.45 Zh s 1.00 | 56.00 ~ 10.20 8839 | Thist | 6.00 ~ 1020 2.51 13.45
P 100kN/m#%#8Z%| 1.00 | 000 ~ 041 106.06 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 1096 ~ 12.09| 106.06 |3m%EBZ% - ~ — — —
ZFhLs 100|041 ~ 819 100.00 | #hlst | 000 ~ 819|234 12.52 Zhst 1.00|6.00 ~ 1096 100.00| ThLls | 600 ~ 1209 | 2.54 12.52
9 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
ZFhLs 100|000 ~ 734 95.53 | #nst 000 ~ 754|258 13.78 ZThsh 1.00|6.00 ~ 1181 93.53 | ThS | 6,00 ~ 11.81]2.568 13.78
10 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
ZFhLs 100|000 ~ 454 5425 | #nst 000 ~ 4.34|1.97 10.57 Zh s 1.00|6.00 ~ 5.00 54.23 | Ths | 6.00 ~ 6.00|1.97 10.57
11 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D - ~ — — —
ZFhLs 1.00| 000 ~ 569 71.14 | Thst | 000 ~ 569 1.97 10.57 Zhsh 100|600 ~ 707 7114 | LS | 6,00 ~ 7.07|1.97 10.67
12 100kN/m#%#8Z%| 1.00|0.00 ~ 0.80 111.96 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 10.76 ~ 13.07| 111.96 |3m%E#BZ% -~ — — —
ZFhLs 100080 ~ 859 100.00 | #hlst | 000 ~ 859|230 12.30 Zh s 1.00|56.00 ~ 1076 100.00| Fhs | 600 ~ 1307|230 12.30
13 100kN/m#%#8Z%| 1.00| 000 ~ 0.79 111.78 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 1069 ~ 1296 111.78 |3m%E#BZ% - ~ — — —
ZFhLs 1001079 ~ 857 100.00| Tnsn | 000 ~ 857|228 12.20 Zh st 1.00|56.00 ~ 1069 100.00| Fhs |6.00 ~ 1296|228 12.20
14 100kN/m#%#8Z%| 1.00| 000 ~ 063 109.33 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 11.45 ~ 1332 109.33 |3m%E#BZ% - ~ — — —
ZFhLs 1.00|063 ~ 841 100.00 | #Fhust | 000 ~ 841|241 12.92 Thst 1.00 | 6.00 ~ 1145 100.00| ThH | 600 ~ 1332|241 12.92
15 100kN/m#%#8Z%| 1.00| 000 ~ 063 109.34 |3m&E#EZBH| — ~ — — — | 100kN/m%#EZ % | 1.00 | 11.44 ~ 1332 109.34 |3m%E#BZ% - ~ — — —
Zh LS 100|063 ~ 841 100.00 | Thust | 0.00 ~ 841|241 12.91 Zh s 100|500 ~ 1144 100.00 | #hlst | 6,00 ~ 1332|241 12.91
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16 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00|0.00 ~ 751 95.96 | Fhilst | 000 ~ 751|205 10.99 ZThsh 1.00 | 500 ~ 1182 95.96 | Th5 | 6,00 ~ 11.82]2.06 10.99
17 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
st 1.00 1000 ~ 744 95.04 | LS | 000 ~ 744|203 10.87 Thst 1.00 | 6.00 ~ 1134 95.04 | TS | 6.00 ~ 11.34]2.03 10.87
18 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
ZFhLs 1.00| 000 ~ 745 95.10 | Fhilst | 000 ~ 745|251 13.41 Thst 1.00 | 6500 ~ 1135 9510 | Ths | 6.00 ~ 11.35| 2.51 1341
19 100kN/m#Z#8Z5| 1.00| 000 ~ 057 10841 |3mEBZB| — ~ — — — | 100kN/m%#8Z% | 1.00 | 1059 ~ 1216 10841 |3m%E#BZ% - ~ — — —
ZFhLs 1.00 057 ~ 835 100.00 | #Fhilst | 000 ~ 835|224 12.00 Zhsh 1.00 | 6.00 ~ 1059 100.00| ThWs 5600 ~ 1216|224 12.00
20 100kN/m%#8x5%| 1.00 | 000 ~ 056 108.37 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 1059 ~ 1215 10837 |3m%E#BZ% -~ — — —
ZFhLs 1.00 056 ~ 835 100.00 | #Fhlst | 000 ~ 835|224 12.00 Zh st 1.00 | 6.00 ~ 1059 100.00| ThWs 600 ~ 1215|224 12.00
21 100kN/m%#8x5%| 1.00 | 000 ~ 166 125,40 |3m&E#EZBH| — ~ — — — | 100kN/m%#8% % | 1.00 | 10.71 ~ 16.50 125.40 |3m%&#BZ 5% -~ — — —
ZFhLs 100|166 ~ 944 100.00 | #Fhdst | 000 ~ 944|248 13.28 ZThsh 1.00|6.00 ~ 1071 100.00 | =4t | 5,00 ~ 1630 2.48 13.28
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhs ~ Zhst ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ ZThsh ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh s ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh st ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Thsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
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